MOJOTONE STUDIO ONE WIRING DIAGRAM

47K

ON/OFF LIGHT
O
M
= w &
N
3 ©
® ® 00 ® TREBLE MIDDLE BASS GAIN TONE VOLU
250K Lin 25K Lin 1M Log 1M Log H 1M Log 1M Lo P
) =
), ),
0 OPTIONAL LED
g QQ CAN BE MOUNTED
o= \0 ANYWHERE ON THE
® ® O. CONTROL PANEL
® ) | N\
(1 O ®
) O
Y 4 50%
) | ? o ‘-‘)% /§
* W
) | OUTPUT = = e - = = £ Lo =
AN TRANSFORMER 8 S S S IR Q Q S K S kpzL 2 )] 8 B ¥ 3
? MOJO1580 ol s 27 5 N = 2
w4 N A
) ’ * 8§ % IS %
( POWER 33K
({ TRANSFORMER
! MOJO779
\\ / 1\
\ INSULATE \\
|
|
( e | RN
/8 N /8
) . 1\ = 1
(( | 7 ) | [ 7 ) |
( e 2 ) 6 S 2
( \543/ \543/
‘ ( ECC83 12AY7
HARDWARE:
21 QTY 4-40 x 3/8" SCREWS FOR TUBE SOCKETS, TURRET BOARD, GROUND TABS, AND AC MAINS INLET
13 QTY 4-40 KEPS NUTS
2 QTY 6-32 x 1/2" SCREWS FOR CAPACITOR CLAMP
2 QTY 6-32 KEPS NUTS
4 QTY 8-32 x 1/4" SCREWS FOR TRANSFORMERS
4 QTY 8-32 KEPS NUTS
4 QTY M6 x 1 1/8" SCREWS FOR CHASSIS
4 QTY CAGE NUTS FOR CHASSIS
Mna i
REVISION 7
1 AMP FUSE AC MAINS INLET OUTPUT SELECTOR SPEAKER OUTPUT IR ENT=] 2/22/2024



